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Note :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.
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All questions carry equal marks (15 marks each).

Attempt any five questions.
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How far would it be correct to argue that lack of agricultural
developments was a major bottleneck in India’s grbwlh record
during the period 1950-1964 ? The argument that ;:conomic
reforms post 1990s in India did not lead either alleviate poverty

eradication is a myth or reality ? Discuss. 7+48=15
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Discuss the key areas of policy action required to bring India’s
growth rate back to the rate achieved during the golden era
period 2003-08 ? What factors can be attributed for the
observed divergence of growth across states post 1980s ?
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List the salient features of India’s demographic profile and
examine the implications of that profile for economic growth
in India. How are population heterogeneity threats to India’s

growth potential ? 7+8=15
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How far would it be accurate to say that (;z) insufficient
investment in public sector is a major factor affecting equity
in Access to Health Services and (b) actual ‘learning outcomes
as a yardstick of educational performances have remained

poor ? T5t7.5=15
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_The slow rate of employment generation in India quring

2005-2009 could be attributable to the movement of female

workforce within agriculture. Discuss. Would it be correct to

say that falling manufacturing employment and limited
employment opponunitiés in services are immediate challenges

for India’s labor market ? 7+8=15
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Urban economic growth seems to have brought gains to both
the rural as well as urban poor in the post reform period
in India. Discuss. Is it correct to assert that Inequality may

have risen during the 1990s ? 8+7=15
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Analyze the process of economic reform in the China and
India and its im.pact on economic growth and its sources ?
How far do you think that the policies relating to rigid labor
laws accountl for India's lack of labor intensive manufacturing

jobs ? 8+7=15
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Do you agree with the view that (I) international comparisons

_ of India are as important as (II) within India comparisons ?

Give reasons to substantiate your answer. 15+71.5=15
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